DEFINITE INTEGRALS AND SUBSTITUTION
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1 Evaluate: (a) I av1-x7 dx using the substitution u=1-x"
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(b) J x2-xdx using the substitution u=2 - x
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DEFINITE INTEGRALS AND SUBSTITUTION
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4 Evaluate: (a) I (2x - 3)(.\'2 -3x+ 2) dx using the substitution u=x"=3x+2

(b) I ( —dx using the substitution u = 42
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DEFINITE INTEGRALS AND SUBSTITUTION
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5 Evaluate: a J dt using the substitution u=1+1t
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(b) L‘.?x:(x}-l)‘dx using the substitution u=x" =1

4 W= [+t - g du=dE
E=u-| ac s
W £=0 = ;b Bl wslo 50

/'\[E_, e _ /(u— om /(\/— u"’-om/('/z ") du
o I+t |

o (ULI/ZH - u-_iH]Z:FL/E’ZuVZL] -~ [ﬁ/&--—lﬂz
- 3 ~14 .y 3 | { |
— - 2B I E a5

L) bL::Z,——I &:31,2' /¥0 M:szdx
duc
\N‘Qw 2w* =0 = - ’ \N‘D\QM'X-“'

j?)z, ) M / ot du = [;Ji

S AC) A
)

R:O/‘ SO

~

~ Section 3 - Page 3 of 4
w




DEFINITE INTEGRALS AND SUBSTITUTION

10 Find the area of the region bounded by the curve y= : , the x-axis and the lines x=v2 and x=+/5.
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